Pupil’s Book Answers

1. Look Back

Page 1

a) Count 9

18, 44, 80

17, 33, 69

5,12,47, 38,70

a)5+4=9

b)8 +5=13

Al1+7=18

7. 7+4=11,94+3=12
114+4=1514+6=20

b) Count 18

ouhwe=
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8. 4+1+4=9
7+3+3=13
4 +5+4=13
8+2+6=16

9. 6+1+4=11
44+4+5=13
54+7+5=17
2+5+8=15

10.a)8-3=5 b)13-5=38

11.a)7-5=2,9-3=6
1M1-0=11,13-2=11
b) 18-4=14,16-8 =28
14-5=917-10=7
12.a)6 +2=2+6
b) 12 +3 =3+ 12
)9+8=8+9
13.17 + 11 =28,12 + 13 =25
24 +12=36,16+ 21 =37
32 + 13 =45,10 + 28 = 38
43 + 46 = 89,34 + 5 = 39
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14.17 + 16 =33, 18 + 18 = 36
16 + 29 =45, 23 + 28 = 51

15.55-32 =23,27-10=17
37-6=31,88-15=173

17.a) rectangle  b) triangle
¢) circle d) square
e) semi-circle
18.a) sphere b) cube
c) cylinder d) cuboid
20.a) 4 o’clock  b) 8 o’clock
) 17 past 10 d) % past 2
Page 4
21.a) 17¢  b) 32c¢ c) 46¢
22.a) 5¢, 2¢, ¢ b) 20c¢, 2¢, 2¢

) 20c¢, 20c¢, 5¢, 2¢, 2c

23.a) heavier b) lighter
C) same

24.3) longer b) shorter
) longest d) shortest
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25.a) cup b) pool
¢) bucket/pool  d) cup/mug
e) cup

2. Addition 1

Page 6

1. 4+0=4,6+0=6
12+0=12,154+0=15
134 0=13,0+3=3
0+18=18,0+4=4

2. 16 +0=16,14+0=14
7+0=7,9+0=9
17+0=17,0+2=2
0+8=80+19=19
0O+11=11,0+15=15

3.3+41=4,5+1=6
9+1=10,16+1=17
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1. 4+1=56+1=7
8+1=9
1+15=16,13+1=14
1+17=18
7+1=81+1=2
1+14 =15

2. 134+1=14,14+1=15
6+1=7,17+1=18
8+1=914+42=3
1+9=10,14+16=17
1T4+11=12,14+19=20

3. 11T+1+0=12
5+41+0=6
0+13+1=14

4. /', X, X, X, /., X
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1. 5+12=12+5
15+4=4+15
11T+8=8+ 11
7+13=13+7
4+13=13+4
12+7=7+12
13+5=5+13
6+11=11+6
3+12=12+3

2. 6+13=13+6

18+2=2+18
4+15=15+4
13+7=7+13
9+11=11+9
12+6=6+12
7+12=12+7
12+8=8+12
14+5=5+14
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1. 1+1=2,34+3=6
6+6=12,94+9=18

4+4-=8,8+8=16
10+10=20,7+7=14

. Double 2 is 4

Double 4 is 8
Double 6is 12
Double 8 is 16
Double 7 is 14
Double 9is 18
Double 5is 10
Double 3 is 6
Double 1 is 2

.3+3=6,7+7=14

5+5=10,10+10= 20
2+2=4,8+8=16
10=5+56=3+3
12=6+6,8=4+4
4=2+2,16=8+38
20=10+10,14=7+7
18=9+9
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1.

44+5=4+4+1=9
3+4=3+3+1=7
5+6=5+5+1=11
7+8=7+7+1=15
8+9=8+8+1=17
9+10=9+9+1=19
10+11T=10+10+1=
21
2+3=2+2+1=5

. 5+5=10,3+3=6

8+8=16,2+2=4
44+4=87+8=15
6+7=13,9+10=19
10+ 11 =21

@ Cracking Maths Pupil’s Book Answers - 2nd Class




3.6+6=12,3+2=5
9+8=17,2+3=5
5+4=97+6=13
6+5=11,4+3=7

10+9=19
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1. 4+4+5=13
6+6+3=15
3+3+6=12
4+4+6=14
7+7+4=18
8+8+1=17
94+9+2=20
104+ 10+ 1 =21
54+46+6=17

2. 6+7+1=14
2+34+0=5
54+46+1=12
4+5+3=12
8+9+1=18

10+ 11 +0=21

3. 4+3=4+4-1=7
3+2=3+3-1=5
5+4=5+5-1=9
7+6=7+7-1=13
8+7=8+8-1=15
9+8=9+9-1=17
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1. 5+7+3 =15
7+3+5=15
3+5+7=15

2.2+6+4=12
6+4+2=12
44+2+6=12

3. 3+4+7 =14
4+7+3=14

7+3+4=14
4. 4+1+9=14

1+4+9=14

9+1+4=14
5. 5+6+4=15

6+5+4=15

4+6+5=15
6. 6+34+0=9

3+46+0=9

0+3+6=9
Page 13

1.3+42=5,2+3=5
5-3=2,5-2=3
6+3=93+6=9
9-6=3,9-3=6
7+5=12,5+7=12

12-7=5,12-5=7
9+7=16,7+9=16
16-9=7,16-7=9

2. 7+3=10,3+7=10
10-7=3,10-3=7
8+5=13,5+8=13
13-5=8,13-8=5
8+7=157+8=15
15-8=7,15-7=28
12+7=19,7+12=19
19-12=7,19-7 =12

3. 13+3=16,3+13 =16
16-3=13,16-13 =3
M+7=18,7+11=18
18-7=11,18-11=7

Puzzler: 21
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1. 10+3=13,10+4 =14
10+6=16,10+0=10

2. 5+10=158+10=18
3+10=13,2+10=12

3. 10+5=1510+7=17
10+9=19,10+4 =14
100+6=16,10+1=11
10+3=13,10+8=18
9+10=19,4+10=14
7+10=17

4. 6 +10=16,4+10=14
74+10=17,9+10=19
100+5=1510+2=12
10+8=18,10+1=11

5. 2+7+8=17

5+8+5=18
7+6+3=16
9+4+1=14
8+9+2=19
3+6+7=16
4+6+1=1

10+1+9=20

Page 15

1. 7+4=11,13+13 =26
5+8=13,12+7=19
6+7=13,14+5=19
12+8=20,5+12=17
8+8=16,9+10=19
17+3=20,16+3 =19

2. 10+10=20,9+6=15
8+9=17,12+5=17
15+5=20,7+8=15
18+2=20,14+4=18
100+9=19,17+2=19
13+6=19
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1. 5+45+9=19
9+1+10=20

7+3+8=18
6+4+8=18
4+6+10=20
8+2+9=19
3+8+3=14
6+6+3=15

12+3+4=19
13+3+2=18

7+7+6=20
8+3+8=19
2. 6+2+6=14
8+3+7=18
5+4+6=15
3+8+9=20
6+6+6=18
7+8+4=19
4+7+6=17
9+8+1=18
2+9+6=17
0+5+9=14

3.9+47,8+8,10+6

9+9,12+6,14+4
10+ 10,15+ 5,13 +7
12 + 8

3. Subtraction 1
Page 17

1. 9-3=6,11-4=7
12-6=6,8-2=606
15-8=7

2. 17-4=13,16-6=10
11-8=3,19-7=12
13-3=10,10-5=5
9-6=3,12-4=28
16-8=8,11-5=6
8-1=7,17-9=28
15-9=6,12-7=5
13-5=8,19-6=13
20-8=12,14-2=12
17-4=13,16-7=9
18-10=8,11-6=5
10-1=9,17-5=12
12-3=9,13-8=5
14-8=6,20-10=10
15-8=7,13-9=4
17-3=14,16-9=7
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Page 18

1.

20-7=13,11-4=7
14-3=11,10-7=3
9-5=4,16-6=10
8-4=4,17-5=12
12-9=3,18-5=13
7-2=5,15-9=6
17-6=11,11-7=4
19-5=14,17-1=16
20-3=17,6-4=2
8-7=113-6=7

2. 15-0=15,7-6=1
13-2=11,16-4 =12
19-2=17,11-3 =8
15-4=11,16-9=7

3. 8-8=0,7-4=3
9-3=6,11-9=2
17-5=12,14-3 =11
9-8=1,10-5=5

4. 20-8=12,17-4=13
16-7=9,18-10=28
11M-6=5,14-8=6
17-4=13,13-8=5
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1. 14-3 =11

2. 19-7=12

3. 18-9=9

4. 15-7 =28

5.17-8=9

6. 9,7, 11
10, 8,12
11,9,13
10, 11,12
12,13, 14
14,15, 16
57,9
6,8,10
7,9, 11
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1. 15+5=20,12-4=8
14 +4 =18
10-10=0,19-11 =8
16-12=14
17-3=14,15-12=3
20-4 =16
18-6=12,12+7=19
13+3 =16

5+13=18,7+11=18
16-11=5

2. 12-6=6,12-4=28
19-7=12
14-3=11,17-7=10

18-2 =16
13-6=7,18-5=13
20-4 =16
15-7=8,10-6=4
16-14=2

3. 11 minus4 =7
Take 3 from 15 = 12
18 subtract 5 = 13
Take 6 from 17 = 11
19 minus 10 = 19
Subtract 7 from 18 = 11
4. 6
5. 8
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1. 11
2. 7
3. 11
4. 5
5. 8
Puzzler: Teacher check

4. Addition and
Subtraction to 20
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1. 11-7=4

2. 9-2=7

3. 7+6=13
4. 14-4 =10
5. 17-14=3
6. 13+5=18

5. Counting and
Numeration 1

Page 23

1. 14,16, 17
15, 11,13

3. 6,9, 14, 16, 20
2,7,11,13,19
1,3,6,15,18
3,8,10, 16, 17

6. Place Value 1
Page 24

1. 1 ten 6 units
1 ten 9 units
2 tens 1 unit
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1 ten 5 units
1 ten 7 units
2 tens 3 units
1 ten 8 units
2 tens O units

Page 27

1. 16 = 1 ten and 6 units
23 = 2 tens and 3 units
19 = 1 ten and 9 units
34 = 3 tens and 4 units
11 =1 tenand 1 unit
25 = 2 tens and 5 units
42 = 4 tens and 2 units
55 = 5 tens and 5 units
78 = 7 tens and 8 units
2. 99 = 9 tens and 9 units
83 = 8 tens and 3 units
65 = 6 tens and 5 units
79 = 7 tens and 9 units
12 = 1 ten and 2 units
47 = 4 tens and 7 units
20 = 2 tens and 0 units
51 = 5tens and 1 unit
10 = 1 ten and O units
3. 1tenand 3 units = 13
2 tens and 8 units = 28
4 tens and 1 unit = 41
6 tens and 6 units = 66
7 tens and 3 units = 73
9 tens and 1 unit = 91
2 tens and 4 units = 24
5 tens and 8 units = 59
3 tens and 5 units = 35
4. 8 tens and 3 units = 83
4 tens and 6 units = 46
1 ten and 8 units = 18
9 tens and 4 units = 94
7 tens and 1 unit = 71
4 tens and 9 units = 49
2 tens and 6 units = 26
3 tens and 4 units = 34
0 tens and 8 units = 8

Puzzler:

99 = 9 tens and 9 units
88 = 8 tens and 8 units
Altogether, 17 tens and 17
units



VO NoUAWN =
N
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8
Spring
Winter
21

5

2

14

13

N hWN =

Page 30

1. 4 elephants, 3 giraffes,
2 tigers, 5 monkeys
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2. a1l b) 1
)6 d)3
e) 2 f) false
g) false h) true
Puzzler: 15

8. Addition 2
Page 32

1. 9+3=10+2
2. 9+7=10+6
3.9+5=10+4
4. 9+8=10+7
5. 9+2=10+1
6. 9+6=10+5
Page 33

1. 20+ 0=20,19 +1 =20
18 +2 =20

17+ 3 =20,16 +4 =20

15+ 5=20
14+6=2013+7=20
12 +8 =20
11+9=20,10+ 10 =20
9+ 11 =20

15+3+5=23
199+1+4=24
6+ 10+ 10 = 26
2+5+18=25
17+ 3 +8=28
8+ 16 +4 =28
1T+11+9=21
12+9+8=29

Puzzler: 21, 28, 36, 45
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1.

12 +7 +8=27
15+9+5=29
7+13+4=24
6+8+14=28
16 +4 +5=25
3+5+15=23
5+ 11 +9=25
6+ 18+ 2=26
199+7+1=27
8+3+12=23
3+6+18=26
4+16+1=21
2+12+8=22
14+6+4=24
15+ 8 +5=28
13+7+5=25
9+ 18+ 2=29
7+19+1 =27
10+4+10=24
3+3+17 =23
M+7+9=27
10+9+10=29
13+9+7=29
9+ 11 +8=28
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1. 447 +4=15
3+413+3=19
5+5+8=18

2+12+7=21
2+10+7=19
3+6+9=18
0+14+6=20
1+12+3=16
3+5+12=20
17 +11=128,24+12 =36
16 + 21 =37,22 +15=37

36 +22=58,18 + 21 =39
28+ 11 =39, 16+ 22 =38
10 +39=49,43 + 6 =49
1 +44 =45,24 + 15 =39
17 + 32 =49,15 + 33 =48
12 + 36 =48, 20 + 30 = 50
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1.

15+12=27,16 +13 =29
25+ 13=38,18 +21 =39
33 + 23 =56,22 + 35 =57
18 +31 =49,32 + 23 =55
48 + 11 =59,16 + 52 = 68
41 +8=49,22 + 14 =36
10 +37 =47,83 + 6 =89
41 + 24 =65,3 + 54 =57
24 +25=49,15 + 33 =48
15+34=49,12 + 36 =48
20 + 30 =50,43 + 3 =46
36 +21=57,15+34 =49
7+22=2934+2 =36

44 +15=159,25+ 51 =76
3+85=288,25+50=75
45 + 24 =69,21 + 54 =175
23 +35=58,16 + 83 =99
12 +64=76,12 + 36 =48
29 +70=099,43 +32=75
45 + 41 = 86,24 + 54 =178
3+65=68,70+3 =73

3+64=67,42+37=179

9. Check-up 1
Page 37

1.

6,7,8

7,8,9

8,9, 10

12,14, 16

14,16, 18

16, 18, 20

4,5,6

3,4,5

2,3,4

12,13, 14

10, 11,12

8,9, 10

16, 18, 19, 20

8,10, 11

13,15, 16

13, 31,47,52

17 +22 =39,36 + 13 =49
28 +31 =059, 14 +22 =36
51 +6=57,42 + 55 =97
10 +39=49,43 + 13 =56
24 + 53 =77
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10. 2-D Shapes

Page 38

circle
rectangle
square
triangle
circle
semi-circle

ouhwN-=

Page 39

3. 2,10, 2
13,3, 2

Puzzler:
e.g.

— D>

—h—
[ @— () —)
[c— a—
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1. circle, 1,0, V/, X
triangle, 3, 3, X, v
oval, 1,0, vV, X
semi-circle, 2,2, v/, /
rectangle, 4, 4, X, v/
square, 4,4, X, /
2. a)square b) semi-circle

c) circle, oval d) rectangle
e) circle, oval  f) semi-circle
11. Angles
Page 43

1. /. XXV XV

Puzzler: Teacher check

12. Subtraction 2

Page 44

1. 76 -34 =42,88-52 = 36
58 -34 =24
97 -63 =34,68-47 = 21
49-33 =16

2. 96-53 =43,85-55=30
79-35=44,29-16 =13,
86-34=52,95-51 =44
77 -42 = 35

3. 48-38=10,79-53 =26
95-62 =33,90-50 =40
82-21=61,54-44=10
79 -53 =26
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1. 58-31=27,60-30=30
65 -40 = 25, 70-40 = 30
38-14=24,40-10 =30
77 —42 = 35, 80 - 40 = 40
92-61=31,90-60 = 30
86-33=53,90-30 =60
65-32 =33,70-30 =40
57 -34 =23,60-30 =30
59 -34 = 25,60-30 =30
83-12=71,80-10=70
69-56=13,70-60 =10

Page 46
1. 26-14=12,68-43 =25
57-24 =33,76-36 =40
86-47 =12,79-33 =46
2. 69-53=16,39-24 =15
85-55=30,79-35=44
68 -26=42,29-16 =13
3. 77-32=45,65-23 =42
29-13=16,75-41 =34
4. 60-20=40,95-34 =061
78 -62 =16,95-45 =50
5. 32-11=21,56-22 =34
59 -31 = 28, 69 - 28 = 41
6. 87 —-44 = 43,48 -33 =15
86-53=33,31-10 = 21

Puzzler:

. 31

2

3.

4. Thursday

5. Saturday

6. 22nd of May
7. 13th of May
8. 11th of May
9. 26th of May
10.12th of May

Page 48

Spring: 89 or 90
Summer: 96
Autumn: 92
Winter: 92

14. Length

CoOoNOhWN=

2

w - N

winter
spring
autumn
autumn
summer

Page 53

1.

ouhkw

a) bcm b) 3cm

c) 11cm

d) 4cm + 10cm = 14cm

7m
a) Tom'’s

centimetres

b) 25cm
b) A metre stick

15. Addition 3

Page 54

1. 29, 42,38

2. 5+10=15
8+10=18
3+10=13
6+ 10=16
154+ 10 =25
18+ 10 =28
13+ 10=23
16 + 10 = 26
25+ 10 = 35
28 + 10 = 38
23+ 10 = 33
26 + 10 = 36
35 4+ 10 = 45
38 + 10 = 48
33+ 10 = 43
36 + 10 = 46

3. 12+ 10=22
14+ 10 =24
17 + 10 =27
114+ 10 =21
22 + 10 = 32
24 +10 =34
27 + 10 = 37
21+ 10 = 31
32 + 10 = 42
34 + 10 = 44
37 + 10 = 47
31 + 10 = 41
42 + 10 =52
44 + 10 = 54
47 + 10 =57
41 + 10 =51




Page 55 57+ 13 =70
1. 16 + 10 = 26 80 + 18 =98
10 4 28 — 38 46 + 42 = 88
32410 = 42 62 + 36 = 98
10 4 49 — 59 71 + 28 =99
10 + 69 = 79
10 + 71 = 81 Page 57
10 + 80 = 90
25 + 10 = 35
2. 10 +45 =55 1.16 +8=124,17 + 9 = 26
10 + 29 = 39 28 + 8 =36,28 + 4 = 32
10 + 49 = 59 35+ 9 =44,45 + 6 = 51
10 + 62 = 72 55 + 8 = 63
10 + 84 = 94 2. 17 +18=135,27 + 17 = 44
10 + 56 = 66 18 + 36 = 54,29 + 15 = 44
10 + 31 = 41 15+ 37 =52,35 + 18 = 53
10 + 83 = 93 26 + 29 = 55
Puzzler: 7 + 15 =22
3. 73+4=77,48+2=50 fgig;gg
51 +5=56,62 +3 =65 6417 — 23
4. 41 +5=46,74 + 3 =77 17 + 17 = 34
81 +5=286,85+3 =88 25 4+ 26 — 51
5. 64 +3=67,22+4=26 18 4+ 5 — 23
14 +5=19,82 +5=87 19+ 15 — 34
6. 26 +4 =30,35+ 4 = 39 16+ 12 — 28
72 +7=79,92 +8=100 84+ 17 — 25
7. 85+ 3 =88,36 + 3 =39 a dinosnore
74 + 2 =76,86 + 3 = 89
Page 56 Page 58
A 1. 16423 -39
>0 + 20 = /0 25 +27 = 52
50 + 30 = 80 16 + 54 = 70
50 + 40 = 90 63 + 18 = 81
10+10 =20 39 + 24 = 63
10 +20 =30 57 + 28 = 85
10 + 30 =40 11 +38 =49
10 + 40 = 50 47 +12 = 59
60 + 10 = 70 69 + 10 = 79
60 + 20 = 80 39 + 18 = 57
60 + 30 = 90 76 + 6 =82
60 + 40 = 100 38 + 34 =72
20 +10 =30 49 + 19 = 68
20 + 20 =40 25 + 49 = 74
20 + 30 =50 17 + 67 =84
20 + 40 = 60 44 + 35 =79
2. 24 +12 =36 15 + 62 = 77
27 + 13 =40 44 + 14 = 58
25 + 23 = 48 35 +43 =78
36 + 33 = 69 19 + 27 = 46
33 + 46 =79 15 + 38 = 53
44 + 23 = 67 35 + 15 =50
55 + 24 = 79 62 +17 =79

83 + 14 =97
68 + 28 = 96
18 + 19 = 37
46 + 27 =73
30 + 38 = 68
26 + 19 =45
53+ 26 =79
10 + 59 = 69
24 + 35 =159
56 + 9 = 65
4 + 27 =31
2+ 38 =40
26 +7 =33
9 + 24 =33
19 + 59 =78
Page 59
Puzzler:

6

5

3 4 | 7

16 + 12 + 23 = 51
15+ 25+ 19 =59
25+ 5+ 27 =57
16 + 21 + 54 = 91
27 +37 +35=99
39+20+4 =063
57+ 12 +8=77
11+ 30+38=79
47 +16 +12 =175
69 +4 + 10 =83
39+ 3+ 14 =56
76 + 14 + 6 = 96
35+ 33 + 13 = 81
16 + 23 + 26 = 65
15+ 22 + 30 = 67
35+ 6+ 15 =56
62 +10+ 17 =89
53+6+14=73
28 +21 +28 =177
154+2+12=29
13 +22+4=39
30 +31 +39 =099
26 +33+19=7
53+ 14 + 26 = 93
10 + 21 + 58 = 89

Page 60

1. 49
2. 49
3. 39
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16. 100-Square
Subtraction

Page 61

1. 73-2=71,48-5 =143
50-6 =53,68-3 =65
47 -5-42,74-3 =71
86-4=82,85-3 =82
67-6=61,29-4 =25
18-2=16,83-1=82
36-2=34,65-3 =62
48 -7 = 41,45 -4 = 41

2. 23-4=19,35-7 =28
72-7=65,92-8=284
85-8=77,36-9 =27
54 -9 = 45,66 -8 = 58
25-5=20,22-5=17
41 -5=36,34-4 =30
27-9=18,83-5=78
73-4=69,82-5=77
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1. 80-10=70,50-20 = 30
70 -30 = 40, 60 -40 = 20
50-10=40,70-20 =50
90 -30 = 60,40 -20 = 20
60-10=50,90-20=70
50-30 = 20,80-40 =40

2. 24-11=13,27-12=15
66 -13 =53, 62-31 = 31
32-22=10,36-23 =13
73-21=052,53-24 =29
44 -33 =11,48-32 =16
55-17=38,82-16 = 66
79-28=51,80-18 =62
41-32=9,100-43 =57

17. Counting and
Numeration 2
Page 64

1. 27 = 30
42 — 40
51— 50
39 - 40
68 — 70
14— 10
15— 20
80 — 80
96 — 100
33 - 30

2. 31,3918, 83, 65,92

Page 65

1. 13 roundsto 10
26 rounds to 30
34 rounds to 30
45 rounds to 50
98 rounds to 100
62 rounds to 60
89 rounds to 90
77 rounds to 80
15 rounds to 20

2. 18+ 21 =39

30 + 30 =60
27 +32 =59
30 + 10 =40
33 + 14 =47
40 + 40 = 80
44 + 36 = 80
60 + 20 = 80
50+ 18 =73

4. 40

5. 50

18. Check-up 2

Page 66

2. oval, semi-circle
3. right
4. 67 — 22 = 45,
49 - 25 = 24,
58 - 23 =35
97 - 50 = 47
5. 48 4+ 27 =175
29 + 33 =62
65 + 25 =90
39 + 47 = 86
6. 32 - 30,47 = 50,21 =20
75 — 80, 88 — 90
24,7,12
9. 5cm

~

19. Comparing
and Ordering

Page 67

1. a) 15, b) 13, ¢) 21, d) 16,

e) 19, ) 12, g) 35, h) 55, i) 63
2. a)13,b)7,012,d) 16,

e) 16, f) 14, 9) 10, h) 13, i) 22

Page 68

1. 11 <17,21>11,25> 16
29 > 16,17 < 43,12 <55
18 < 19,33 > 15,44 > 12
16 < 41,35 < 57,47 <59
13 < 19,25 < 44,31 > 17
20 < 25,42 > 38,57 < 75

2. 10<20,32>19,16 =16
25 < 36,18 <43, 14 < 31
18 =18,33 =33,29 > 19
14 < 41,23 < 53,47 =47
22 =22,55> 35,76 > 67
12>11,50>5,10 =10

Page 69

True, False, False, False, False, True
Page 70

1. 15<14+ 3,11 <20-5
7<15-0,10<70-10

2. 15<19-2,25<40+ 10
16 +8 >22,16 +4 > 19

3. 94+49>14-8
50+ 10 >35+ 12
3+8>10-8

4. 0+9<9+1
18-6 <9+ 8,
12-10<5+8

5. 54+ 10=34+ 30
32+ 20> 28 + 20

6. 10+ 80>75-10
20+8>8+14

7. 72 is less than 87
62 is greater than 51
32 is equal to 32

Puzzler: 4 ducks

Page 71

Wednesday
Friday

5th

25th

5

6th and 20th
10th

15th

. basketball
10.4th

11.31

LCOoONOURAWN =

Page 72
TELEVISION

Puzzler: No
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20. Spatial

Awareness
Page 73
1. a) right b) left
) beside d) above
e) next to f) below

21. Symmetry

Page 74
1. /XX

Page 75
3. a)true b) false
¢) false d) true

4. X,/ /. /', /. X

22. Subtraction 3 ,

Page 76

1. 33-7=26
2. 44-8 =36
3. 36-9 =27
4. 63-5=58
5. 52-5=47
6. 71-7 =64
Page 77

1. 60-6 =54
2. 57-8=149
3. 22-5=17
4. 41 -6 =35
5. 35-7=28
6. 45-8 =37
7. 28—-9=19
8. 15-8=7

9. 41-2=139
10.30-3 =27
11.68-9 =59
12.35-8 =27
13.20-6 =14
14.14-9=5

Page 78

2. 73-25=48
3. 72-15=157
4. 81-27 =54
5. 60-36 =24
6. 51-48=3
7. 32-25=7
8. 51-36=15
9. 63-17 =46
10.57 -29 = 28

Page 79

1. 31-19=12,47-28 =19
63-44=19,51-35=16
72 -56 =16

2. 42-18=24,53-34=19
33-15=18,66-28 = 38
81-47 =34

3. 31-18=13,37-29=28
53-45=28,41-36=5
62-57=5

4. 21-9=12,34-19 =15
77 -59 =18,40-25=15
85-58 = 27

Page 80

1. 64-18 =46,40-16 =24
75-27 =48,36 -9 = 27
92 - 66 = 26

. 54-27=27,60-21 =39
38-19=19,63-54=9
46-38 =8

3. 50-36=14,32-13 =19
82-29=53,44-17 =27
67 — 38 = 29

4. 42 -37=5,20-12 =28
46 -8 = 38,55-16 = 39
74 - 29 = 45

Page 81

1. 74-57=17,90-60 = 30
73-26=47,48-12 = 36
81 -65=16,50-9 =41
88 -47 = 41

2. 98-61=37,59-1=58
76-59=17,72-56 =16
32-11=21,53-23 =30
60 -27 =33

3. 94-30=064,67-52=15
46-23 =23,24-4=120
54-10=44,61-46 =15
72-58 =14

4. 45-35=10,65-50 = 15
39-33=6,63-17 =46
84 -51=33,50-39 =11

34-16 =18

5. 61-28 =33,51-24 =27
65—-28 = 37
80-62=18,37-19=18
43 -18 = 25
81 -43 =38,77-46 = 31
68-59 =9
69-52=17,92-78=14
41-27 =14

Page 82

. 88-51=37,85-66=19
48 -37 =11,66-51 =15
57-30=27,45-21 =24

71-59 =12

2. 97-15=82,42-3 =39
84-23=61,89-53 =36
79-61=18,57-23 =34
40-17 = 23

3. 53-41=12,46-36=10
87 -67 =20,62-29 =33
46-25=21,87-39 =48
85-59 = 26

4. 78-32 = 46,51 -28 = 23
25-8=17,97-42 =55
60-44 =16,82-69 = 13
78-16=62,43-16 = 27
milk shakes

Page 83

1. a19-3>7-5
b)13-11 =18-16
018-10=19-11
d)14-12<17-10
e)13-6>14-9
)18-14=16-12
9)20-9> 1711
h)12-8<17-6
)18-6=15-3
)14-4=13-3
k) 19-13 > 18-14
N16-11<17-5
m17-11<14-3
n18-12<13-4
0)15-5=20-10
P)20-13=18-11

Puzzler: 15

23. Fractions

Page 84

3. T of8=4
Fof12=6
1 0of 10 =5
T of14=7
T of 16 =8
1 0f20 = 10
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Page 85

1. 2ishalfof4 6ishalfof 12
5is half of 10 10 is half of 20

2. 3+ 0f18is9 ~ of 14is7
%of8is4 1701‘2is1
~of 1615 8

3. a)6,b)20,09,d) 10,e) 7

Page 86
1 1

2. yof8=2 Fof12=3
+of16=4 5 of20=5

3. Tofd=2->F0f2=1
so%of4=1
2 0f20=10—>~0f10=5
so%of2025
T of 12 =65 0f 6

—3s04of12=3

Page 87

1.7

2. 210 b)5 Q7
3. 216 b8

4. 5 of20 =10, 5 of 16 = 8

5 0f24 =12, 7 of 12 = 3
F0f8=2470f20=5

Puzzler: 40

24. Weight

Page 92

12kg
17kg

1

7Kg

52kg

same weight

ok W N

Puzzler: 9kg

25. Time 2
Page 94

1. 2 o'clock, % past 1
% past 9, % past 7
% past 11, 3 o'clock

11 o'clock, 17 past 9
8 o'clock

Page 95

1. %past9,%past11
]7 past 3, % past 6

17 past 8

Puzzler: 4m, 8m

Page 96

1. 7102, 51010, 7 108
]Tto1,%t03,]7to9
S 104, 51012
Page 97

1. 1:00, 8:00, 4:00, 12:00, 1:30
10:30, 7:30, 12:30, 11:30
7:00, 2:30, 9:30, 5:00, 6:30

2. four o'clock = 4:00
nine o’clock = 9:00
% past4 = 4:30
half past ten = 10:30
three thirty = 3:30
one o'clock = 1:00
five thirty = 5:30
% past seven = 7:30

Page 99

17 past 6

5 o’clock
half an hour
Irish dancing

PwWnN =

26. Check-up 3

Page 100

1. 18 < 43,25 > 11
1M+7=20-2
8+6<7+9

3. 37-9=128,71-6 =65
72-16 =56,85-23 =62
87 -39 =48,60-25 =35

1 1

4. a) 7, b) >
5. a)3 of 14 =7
b) 4 of 20 = 5

¢) 9is half of 18
d) 2 is a quarter of 8

7. 3 o'clock, % past 7, % to 6
1
7 past 1

8. 3 o'clock = 3:00
+ past 5 = 5:30

27. Algebra -
Extending and
Using Patterns
Page 101

1. a)4,b)16,¢) 12,d) 10,

e) 14, 1) 16, g) 20
2. 4,6,8,10,12, 14,16, 18, 20
3. 2,4,6,8,10,12, 14,16
Page 102

1. a) 12, b) 24, ¢) 32, d) 20,
e) 16

Puzzler: 20

2. a) 8, b) 20, c) 24, d) 24,
e) 32, ) 36, g) 36

Page 103

, 0 10, d) 40
, ©) 30, d) 45,

1..9,12,15,18, 21, 24, 27, 30
2. a)6,b)12,0)18,d)9, e) 30,
f) 21
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3. 2)9,b) 18,0 9, d) 27, e) 30,
f) 27, g) 30

4. 9,15,12, 21,24
6,37, 3,18, 30

Page 105

N

18, 24, 30, 36, 42, 48, 54, 60
2. a)12,b) 30, c) 18, d) 36,

e) 24, 1) 60, g) 54, h) 42, i) 48
3. a) 24, b) 30, ¢) 42, d) 48,

e) 48

4. a) 18, b) 42

Page 106

—_

12,16, 20, 24, 28

2. a)12,b)8, ¢ 20,d) 24,
e) 16, f) 28

16 wings = 8 bees
20 wings = 10 bees
18 spots = 3 giraffes
30 spots = 5 giraffes
15 fingers = 3 hands
) 35 fingers = 7 hands

)
a)
b)
a)
b)
a)
b

28. Money 1

Page 107

1. 6¢, 9c, 18c, 24c, 35¢, 50c

3. 2c g, 20c 2c, 5c 2¢,
20c5¢c, 10c1c, 20c 10c,
10c 5¢, 20c 20c

4. 10c, 20c, 25c¢, 2c

Page 108

1. 10c, 5¢, 20c + 10c, 10c, 50c,
20c + 20c

2. 100c

3. 70

Page 109

1. a)7c
d) 15¢
g) 40c

b) 3¢
e) 22¢

Page 110

1. €1.12,€1.25, €1.65, €1.74,
€1.80, €1.85, €1.37

2. 152c = €1.52
187c = €1.87

135¢c = €1.35
141¢c = €1.41
166c = €1.66
199c = €1.99
174c = €1.74
118c = €1.18
140c = €1.40
104c = €1.04
109c = €1.09
3. a)€1.67,b)€1.50, c) €1.52

Page 111

. 2¢, 1c = 3c

. 10c = 10c
2¢, 20c = 22c¢

3. 1¢, 10c = 11c

2¢, 1c, 5c = 8c

2¢c, 20c = 22c¢

5c = 5c¢
5¢, 10c = 15c¢

N —

Page 112

1. 80c, 20c
45c, 55c
55c, 45c

50c, 50c
60c, 40c
95¢, 5c

Puzzler: Teacher check

29. 3-D Shapes

Page 113

1. cone, sphere, cylinder, sphere,
cone, cube, cylinder, cylinder,
cone + cylinder, cuboid

2. cube, cuboid, sphere, cube,
cylinder, cone, cube, cylinder,
sphere, cuboid

Page 114

1. cylinder, cuboid, cube, cone,
sphere

2. X, /. v/
) 4
oL
o X
o XX

3. sphere, cone, cylinder
cube, cuboid, cylinder, cone
cube, cuboid, cylinder
cylinder

Puzzler: 18, 24, 36

Page 115

1. 6,8,12 1,0,0
3,0,2 6,8, 12
2,0,1

2. circle, square
circle, rectangle

30. Addition 4
Page 117

—

.90 +9=99

2. 80+ 9 =289

3. 80+10+1+5
90 + 6 =96

4. 30 +20+4 + 3
50 +7 =57

5.20+20+2+7
40 + 9 =49

6. 40 +50 +4 + 2
90 + 6 =96

7. 70+10+3 + 6
80 +9 =89

8. 60+30+2+7
90 +9 =99

9. 20+60+4+5
80 +9 =89

10.50 +40+ 1+ 8

90 +9 =99

Page 118

1. 19+6=20+5=25
29 +7=30+6=36
29+3=30+2=32
29 +8=30+7 =37

2. 9+5=14,19+5=24
29 +5=34,39+5=44
9+7=16,19+7 =26
29 +7=36,39+7 =46
9+4=13,19+4 =23
29 +4 =33,39 +4 =43
9+9=18,19+9 =28
29 +9=38,39 + 9 =48
9+2=11,19+2 =21
29+ 2=31,39+2 =41
9+3=12,19+ 3 =22
29 +3=32,39+3 =42
9+6=1519+6=25
29 +6=35,39+6=45
9+8=17,19 + 8 =27
29 + 8 =37,39 + 8 =47
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Page 119

1. 91,91, 93,67, 84,77, 80, 89
77,93, 76, 85, 80, 85, 72,
79, 96, 84, 58, 76, 89, 64
ALL OF THEM.
HOUSES CANT JUMP

Puzzler: 33, 45, 51, 60

Page 120

80
92
65
82
74
93

ouhwN-=

Page 121

28 + 12 =40
19+ 11 =30
18 + 25 =43
35+ 15=50
27 + 19 = 46

uhwnN =

31. Subtraction 4

Page 122

8

32
17
19
31

uhwWwn =

Page 123

16
25
16 minutes
36
15

uhWN =

Page 124

1. 19-6=13,15-9=6
18-4 =14
20-10=10,11-8=3
12-5=7
15-6=9,17-9=28

19-8=11
18-5=13,11-7=4
20-9 =11

2. 13-6=7,16-4=12
14-9=5

19-9=10,15-4=11
13-7=6
20-9=11,13-9=4
14-7 =7
15-10=5,12-5=7
17-8=9
3. 34-12=22,23-11=12
38-16=22,49-14 =35
54-10=44,44-12 = 32
4, 48 -14 = 34,37 -15 = 22
24-8=16,68-28 =40
49 -17-32,55-22 =33
5. 35-18=17,42-14 =128
38-19=19,45-26 =19
38-29=09,64-26 =38
6. 68-29=39,41-15=126
60 - 25 = 35,53 -25 =28
40-29=11,57-48=9

Page 125

1. 19-4=15,13-3 =10
16-8=8,16-7=9
13-5=8,16-4=12
16-6=10,20-10=10
12-9=3,14-6=28
10-5=5,12-8=4
18-10=28,20-9 =11
17-4=13,18-9=9

2. 67-52=15,75-58 =17
82-6=176,89-69 =20
71-55=16
Moo york

3. 63-49 =14, 81 - 25 = 56,

40-9=31,71-55 =16,
57-4 =753
acomb

Page 126

1. 83-64=19,60-6 =54
83-16=067,88-50 =38
32-25=7,72-56 =16
87 -43 =44,74 -57 =17
79-54 =25,85-72 =13
78—-52=126,23-15=8
because his feet
smell

Puzzler: 9

32. Place Value 2

Page 127

134,126, 117, 165, 156,
180, 111, 159, 141, 173, 184

Page 129

1. 156, 163, 147
189, 140, 101
133, 127, 180

2. 1 hundred 6 tens and 5 units
=165
1 hundred 8 tens and 2 units
=182

Page 130

1. 3tensand 17 units
1 ten and 16 units
7 tens and 15 units
3 tens and 19 units
1 ten and 13 units
2 tens and 15 units
0 tens and 17 units
3 tens and 10 units
4 tens and 16 units
6 tens and 19 units
7 tens and 11 units
1 ten and 14 units
4 tens and 18 units

Page 131

1. a=3,0=7,t=
4 =5
tractor

Puzzler: 1, 4, 2

1,c=28,

33. Counting and
Numeration 3
Page 132

1. 103,107, 115,121,129
134, 148, 156, 170, 177
182,186, 193, 199

3. 112,150, 167, 105, 136

4. 116,107, 155, 139, 191, 168

34. Area

Page 133
Puzzler: 12
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Page 146

1. b)127c, €1.27
c)217¢c, €2.17
d) 161c, €1.61
e) 193¢, €1.93
f) 154c, €1.54

Puzzler: 5 apples for 40c

} € 131-9 =122
35. Check-up 4 e
Page 135 196 - 10 = 186
1. 24 f) 147 -9 = 138
2. 123c = €1.23 182-9 = 173
104c = €1.04 171-9 = 162
189c = €1.89 g) 154 -7 = 147
115¢c = €1.15 179-8 = 171
3. 16, 25, 27 147 -8 = 139
44,53, 55, 64 2. a) 110
67,77, 79, 88 b) 118
80, 88, 89, 100 ) 151
4. 1¢20c = 21c d) 119
1c 5¢ 50c = 56¢ e) 112
5. 10 + 10 = 20
13+ 13 =26 Page 138
12+12=24 2. a)198-8 =190
14 +14 =28 190 -7 = 183
6. 53 + 38 = 91 1936 — 187
44 + 17 = 61 b) 188 — 8 = 180
73+ 13 =86 180 -7 = 173
7. 21-19 = 2,56-36 = 20 1836 179
37-28=946-38 =28 177 5 — 17
8. cone, cuboid, cylinder, ) 178-8 = 170
sphere 170-7 = 163
9. 34 173 -6 = 167
] 167 -5 = 162
36. Subtraction d) 168 -8 = 160
with the 101-200 ol
Square 157 -5 = 152
Page 136 e) 158 -8 = 150
2. 152,153, 161, 171, 181 150-7 =143
142, 144, 153, 163 153 -6 =147
125 135, 144, 145 147 -5 =142
177,186, 187 f 148 -8 = 140
112,113, 121, 122, 131 140 -7=133
157, 158, 167, 163 143-6=13/
103,112, 114, 115, 123 137-5=132
153, 154, 164, 173, 174 Puzzler: 1
Page 137 37. Capacity
1. a)145-8 = 137 Page 144
176 -9 = 167 age
115-10 = 105 1. a) 10l, b) 31, ¢) 6, d) 6l, e) 11,
b) 137 -7 = 130 f) 11, 9) 71
183 -15 =168 Puzzler: 20
194 -12 = 182
) 162 -5 =157
1936 = 117 38. Money 2
138-4 =134 Page 145
d) 161 11 = 150 2. aXxb) v, 0V, d)V, eV,
174-13 = 161 f x
153-9 = 144

Page 147
€1.50, 50c €1.70, 30c
€2, 0 €1.30, 70c
€1.60, 40c €1.95, 5c¢
90c, €1.10 €1, €1
40c, €1.60

Page 148

1. €1

2. 95c + 25¢c = 120c

3. Change = 30c

4. 70c + 50c =€1.20

5. 20c + 20c + 20c + 20c +

20c = €1

25¢c + 25¢c + 25¢c = 75¢
42c + 25¢c + 31c = 98¢
8. Answer: 55c¢

No

Page 149

1. a) 5¢50c, 55c¢

b) 20c 50c, 70c

€) 2c¢ 20c 20¢c, 42c

d) 2c 5¢ 10c 20¢, 37c¢
e) 2c 2¢ 5¢ 20¢c, 29c

39. Addition and
Subtraction Word
Problems

Page 150
1. 39-24 =15
2. 45 + 24 = 69
3. 39 + 54 =93
4. 54 -45 =9
5. 45-24 = 21
6. 54+ 17 =71
7. 88-69 =19
8. 69 + 26 = 95
9. 72-24 = 48
10.26 + 26 = 52
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Page 151

65 +30=095,34-11 =23
72 + 21 =93,54-22 =32
74 +25=99,28-13 =15
65 + 24 = 89
57-37=20,17 +78 =95
64-64 =0,47-15= 32
60-57=3,78-10 = 68
59 + 29 = 88,45 + 16 = 61
28 + 35 =63

2. 19-5=14,38 + 260 =64
31 + 55 =86,72-24 =48
47 + 48 = 95,71 -28 =43
a towel

3. 42+ 27 =79,26-13 =13
184+ 17 =35,80-26 =54
27 + 57 =84,42 -14 = 28
56 -39 =17,54 + 37 = 91
56 -19 =37,67-19 =48
lots and lots of room

d) (37-19) + 20 = 38
37-19=18,18 + 20 = 38
e) (45-28) + 37 = 54
45-28 =17,17 + 37 =54
f) (71 -52) + 15 = 34
71-52=19,19+15=34

Page 154

1.

(18 + 25) - 12 = 31
18 + 25 =43,43-12 = 31

57 -29 =28, 17 + 56 = 73 2. 26+29)-17 =38
64 —36 =28, 47 -19 = 28 Page 153 26 + 29 = 55,5517 = 38
81-57 = 24,7819 = 59 3. (39 + 44)-26 =57
59 — 43 = 16, 45 + 29 = 74 1. a)(37 + 10)-12 = 35 39 + 44 = 83,83 -26 =57
28 + 28 = 56 37 +10=47,47-12=35 | 4. (67 + 14)—15 = 66

47 -37 =10,17 + 59 =76
90 -64 = 26,67 -18 =49
60-42 =18, 14 + 42 = 56

b) (40 + 15)-13 = 42
40 + 15 =55,55-13 =42
(25 +13)-21 =17

67 + 14 =281,81-15=66

40. Check-up 5

55 + 29 = 84, 45 + 34 = 79 25+ 13 =38,38-21 =17

28 + 56 = 84 d) 33 + 25)-37 = 21 Page 155

55-27 = 28,13 + 68 = 81 33 +25=58,58-37=21 | 1. 125 173,106
71-64=7,47-19 =28 e) (26 + 49) - 14 = 61 2. 47 = 3 tens and 17 units,

67 +17 =84,78-19 =59

26 +49 =75,75-14 = 61

53 = 4 tens and 13 units

64 + 29 = 93,45 + 18 = 63 f) (41 + 14)-18 = 37 3. 125,134, 135
41 + 14 = 55,5518 = 37 151, 152, 153, 162
Page 152 2. a) (76 -15) + 31 = 92 124,125, 134
76-15=61,61+31=92 | 4. 1 litre
b) (68 — 25) + 37 = 80 5. 146¢c = €1.46, 193¢ =

1. 20-6=14,39-15=24
46 +7 =53,29 +5 =34

68 - 25 =43,43 + 37 = 80

€1.93, 135c = €1.35

25 4 25 — 50 c) (98 -27) + 14 = 85 6. €1.15
a clock 98-27=71,71+14=85 | 7. 55¢
8. 23
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Practice Book Answers

Addition 1

Page 3

1. 1T+1=2,5+45=10
2+2=46+6=12
3+3=6,4+4=38
8+8=16,5+6=11
9+9=18,7+7=14
14+42=3,6+5=11
2+3=56+7=13
3+4=7,94+10=19
8+9=17,7+8 =15
44+5=9 10+ 11 =21
1+0=1,54+44=9
2+1=3,10+10=20
3+2=54+3=7
8+7=15,10+9=19

2. 5+46=11,7+8=15
94+10=19,4+5=9
8+9=17,6+7=13
2+3=51+2=3
10+ 10=20,3+4=7

3.5+44=9,7+6=13
9+8=17,4+3 =7
8+7=15,6+5=11
2+ 1=3,
1T+0=1,10+9=19
3+2=5

Page 4

34

10c, 5¢, 5¢

60

8c

6

11, 23,32,47,74
12,8, 14

67 = 6 tens 7 units
17,19

LN AWN =

Page 5

90 = 9 tens

7c

Tuesday

True

85

13

20c = 10c + 10c

NoupkswnN =
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8. T of20=10
9. 16isdouble 8
10.89, 73, 65, 49, 11, 7

Data

Page 6
5

4
Mario
Shrek
15

5

2

21

. Batman
0.30

SWwNoURWN=

Page 7
Madagascar
Ice Age
Finding Nemo
11

26

2

1

. Toy Story
0.15

20ONOUTAWN

Page 8
1. 545+54+5=10+ 10
2. yof16=8

3. 23

4. 70-20 =150

5.9

6. 4

7. 26c = 20c + 5¢c + 1c

8. 32 units = 3 tens 2 units
9. 7+48+4=19

1

0.5 0f18=9

Addition 2

Page 9
36 + 23 =59
45 + 17 = 62

25 + 26 = 51
17 +54 =171
63 + 28 = 91
49 + 25 =74
53 +24 =77
11 + 36 = 47
47 + 10 = 57
62 + 15 =77
34 + 13 =47
76 + 8 =84
39 +36=75
49 + 29 =78
25 +59 =284
17 +77 =94
48 + 35 = 83
15+ 62 =77
44 + 19 = 63
35+ 43 =78
19 + 27 = 46
15+ 38 =53
35+ 15=50
62 +17 =79
83 + 14 =97
68 + 21 =89
18 + 18 = 36
46 + 26 =72
30 + 38 = 68
26 + 19 =45
58 + 27 =85
19 + 58 =77
24 + 35 =159

56 +3+9 =168
4+26+5=35
2+ 27 + 37 =66
26 +20+7 =253
2+ 1+24=27
36 +23 +18 =77

Page 10

1. 7

2. 55,66

3. 34c

5. 50c = 20¢, 20c, 10c
6. 12+ 18 =30
7. 20c

8. 24

9. 11

1

0.17 past 2, % past 3
4 o'clock, 5 o’clock



2-D Shapes

Page 11

1. a) circle
b) rectangle/square
c) triangle
d) semi-circle
2. circle, semi-circle
rectangle, triangle
square, oval
3. a)circle
b) rectangle, triangle
C) square, rectangle, triangle

Page 12

Circle, rectangle, triangle
Square, circle, semi-circle
rectangle, oval, triangle

SLVWONOUAWN =
0\ NN X X X

Page 13

2. 136cm

3. cone

5. 124+ 16=10+ 18
6. 25+ 15 =40

7. 2 tens 5 units

8
9
1

. banana

. 47 -25=22

0.4 0f 26 = 13
Angles
Page 1

Page 15

13+9=26-6

Friday

T F

17, 25, 36, 44, 52, 59, 78
12

NhWN =

8. 17-6=11
9. 11,33,55
10.20c

Subtraction 1
and 2

Page 16

1. 8-3=5,11-5=6
17-7=10,13-5=8

2. 6-4=2,10-1=9
12-5=7,14-6=28

3. 37-15=22,73-52 =21
53-32=21,53-41 =12
28-11=17,48-27 = 21

4. 79-53=26,68-46 =22
64-13=51,38-27 =11
57-41 =16,69-40 = 29

5. 57-15=42,76-53 =23
94 -81=13,74-62 =12
95-73 =22,87-36 =51

6. 47-21=26,28-10=18
66 -45=21,46-35=11
57-12=45,96-74 =22

7. 14

8. 21

9. 19, 18, 17
18,17, 16

10.33, 35, 37
31, 33, 35

Page 17

59

64c

9

12+ 22 =34

7 tens 5 units = 75
50

0.5

SLVLoUWN =

Time 1

Page 18

12
January
July
October
February
January
December

ONoUnwWwN =

Page 19
2. 7,8,13, 26, 41
3. 29

4, 2

5. 6

7. 14c

8. 7:30

9. 12

10.50

Length

Page 21

1. 1 metre = 100cm
2. %m = 50cm
3. 50cm

4, 4

5. 27cm

6. Max, Jessica
7. 2m

8. 67cm

9. 8cm, 3cm
10.7cm

Addition 3

Page 23

1. 10

3. 8

4, 4

5. 48

6. 3

8. 3+7=4+6
9. 38cm

10.20c

Comparing and
Ordering

Page 24

1. 10 < 20,32 >19,16 = 16
24 > 21
25 < 36,18 <43, 14 < 31
19 > 15
43 < 47,26 > 25,30 > 13
20 =20
33>3,57 <75 11 <22
35 < 53

2. 6+9<15+3
20-3 <14 + 4
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14-2 <16 + 1
94+5=11+3
50-20=20+ 10
2+16<11+9
27-10=10+7
13+13 <20+ 7
50-10=48-8
7+6>15-5
8+8=18-2
9+5=7+7

3. 15, 33, 46, 52, 81
o, 13, 29, 50, 67

4. rat, tap
rice, race

Page 25

1. a)8=28,13<19,19 <20
b) 14 < 41,23 < 26,
47 > 44

2. a)12 <22,55> 35,76 > 67

b)12 >11,50> 5,10 =10

7+7<1513-8=5

9+7>12,24 +6 > 27

6+9=15+4+0

11M-3<14+4

6. 14-2<16+1
20+5>11+9

7. 5-2<2+10
6+6>11-3

8. 50, 35, 28, 21,17

9. 19, 34, 43, 56, 92

10.X, /., X,/

uihWw

Page 26

136
85¢

8
€1.75

%past7
20
0 12

—‘“390.\‘.‘”.’\’.—‘

Symmetry and
Angles

Page 28

uhwWN =
x WX X |

= © 0N
Z WX X% S

Page 29

4
7

€1, 50c
quarter to 11
39

spring

0.5

SNV =

Weight

Page 31

1. maths book
. lollipop sticks

2

3. jjkg, %kg, 1kg, 2kg
6. 2

8. 4

9.

1

30kg
0.6kg

Page 32

€0.29

139
Thursday
€1, 10c, 5¢
7cm

30

87

180

0 34

—‘L°9°.\‘.<”.U".4>P”.—‘

Time 2

Page 33
3. 7 o'clock, 9 o'clock

17 past 12, % past 2

Page 34

AW =
ANENENE

X
4
X
1 1

5 past 11, 4 past 7

9 o'clock, 17 to 2, % past 2

Page 35

1. €1.64

3. 32

4. 8

5. b)

6. 147

7. 3c

8. 16

9. 17+ 8 =25
10.24, 25, 33, 44

Algebra

Page 36

2. 9,12,15,18, 21, 24, 27, 30
3. 12,16, 20, 24, 28, 32, 26, 40
5. 18, 24, 30, 36, 42, 48, 54, 60

Page 37

1. 4,8,10,12,16, 18

2. 12,15, 18, 21, 24, 27, 30
3. 8,12, 20, 24, 28, 32, 36, 40
4. 10, 15, 25, 30, 35, 40, 45, 50
5. 12,18, 24, 36, 42, 54, 60
6. 30, 40, 60, 70 80, 90, 100
7. a) 30 b) 5 c) 80

8. a) b) 1 c) 30

9. a)8 b) 2 ) 36
10.a) b) 1 c) 30
Page 38

1. 22

3. 16, 20

4. April

5. 3 0o'clock

6. 12

7. 34c

8. 12is 3 less than 15

10.1 metre
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Money 1

Page 39

1.
2.

53¢, 76c¢, 93¢

b) 31c = 20c + 10c + 1c¢
¢)47¢c = 20c + 20c + 5¢ +
2C

d) 58c = 50c + 5¢ + 2¢c + 1c¢
e) 86¢c = 50c + 20c + 10c +
5¢+ 1c

f) 93¢ = 50c + 20c + 20c +
2c + 1c
. a)2c
c) 20c

b) 50c
d) 50c

Page 40

LN AW=

9+3>5+6

8 >4

12

lighter

69

€1.37

14+8+8=230
34+25=30+20+4+5

3-D Shapes

Page 41

1.
2.

Page 42

SWoNoUuhAWN=

a cube

a cuboid
a cylinder
a cone

a sphere
sphere
cube
cone

. cuboid
0.cylinder

Page 43

1.

3

189
. 8

4
5
6
8
9
1

1
- an hour

. b) litres

. 18-6>6+5
. 60

. 24 + 35 =059
0.46

Addition 4

Page 44
1. 27 + 25 =052
2. 8+8+8=24
3. 34+ 29 =63
4., 12+ 23+ 13 =48
5. 21 +29=50
Page 45
1. 15+ 3 =18,
13+4=17
2. 16 +2 =18
154+ 4 =19
3. 11 +5=16
174+ 2 =19
4. 7+ 13 =20
10+6=16
5. 45 + 24 =69
21 +54 =175
34 4+ 35 =69
16 + 83 =99
6. 35 + 46 = 81
19454 =173
27 + 35 =062
16 + 66 = 82
7. 32 +27 =59
8. 27 + 14 = 41
9. 17 4+ 27 =44

1

0.28 + 14 + 18 =60

Page 46

1
2
3
4
5
6.
7
8
9
1

.5

. triangle

100cm

.19

. 35

15, 25

. 5¢

.4

.12 +3+15=30
0.1kg

Subtraction 3
and 4

Page 47

1. 41-18 =23,57-28 =29
73-5=068,61-34 =27
82-55=27,50-32=18

2. 32=15=17,43-34=9
23-19=4,56-27 = 29
71-3 =068,64-28 =36

3. 45-17=28,36-18 =18
28-19=9,63-14 =49
48 -19 = 29,57 -18 = 39

4. 56-27=29,73-36 =37
82 -3=79,46-28=18
37-28=9,48-39=9

5. 59-27=32,84-17 =67
57-5=52,64-53 =11
90-77 =13,86-64 =22

6. 18

7. 11

Page 48

1. 52-16=36,46-18 = 28
64 -36 = 28

2. 53-28=25,71-59=12
60-5=>55
3. 24-8=16,60-19 =41

45-37 =8
4. 46-16 =30,52-17 =35
98 -46 = 52

5. 60-17 =43,56-23 =33
37-14 =23

6. 28-19=9,50-7 =43
48 -29 =19

7. 48 -25=23,69-23 =46
50-35=15

8. 22

9. 19

10.6

Place Value

Page 49

1. 34 = 3 tens and 4 units
58 = 5 tens and 8 units
14 = 1 ten and 4 units
97 = 9 tens and 7 units
28 = 2 tens and 8 units
5 = 0 tens and 5 units

2. 1tenand 9 units = 19
6 tens and 2 units = 62
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4 tens and 3 units = 43

8 tens and 1 unit = 81

5 tens and 9 units = 59

7 tens and 5 units = 75

123, 135, 107

6. 5 tens and 5 units, 3 tens and
7 units, 2 tens and 4 units

w

Page 50

1. 123,152,176, 137

3. 47 = 4 tens and 7 units

4. 54 =5 tens and 4 units

5. 5tens and 6 units = 56

6. 8 tens and 3 units = 83

7. 1 tenand 13 units = 23

8. 2 tensand 17 units = 37

9. 49 = 4 tens 9 units or 3 tens

19 units
.61 =6tensand 1 unitor5
tens and 11 units

—_
o

Counting and
Numeration

Page 51

1. 107, 125, 141, 164, 170

2. 199 = purple, 182 = blue,
157 = red, 146 = yellow

3. 134,136, 158, 160, 141, 143
183, 185, 115, 117, 122, 124

4. 103, 195, 147

Page 52

42,43

75,76

33,34

61, 62

16 is before 17, 35 is before

36, 65 is after 64

8. 80 is before 81, 50 is after
49, 99 is before 100

10.78 = seventy-eight

65 = sixty-five

Noupsw

Area

Page 53
2. 4,5,10,9

Page 54

21,47,76

20c, 10c, 5¢, 1c

24

34-16 =18

cube

20c

10 less than 75 = 65
. 22-3=19

0.15

SWVWONoRAWN =

Capacity

Page 55

2. a) X b)
d) v
9) X

3. 4

4. 2l

Page 56

2. cup
3. teapot
6. 4l
7. 4
8. 6
9. 70I
10.8l

Page 57

1. 15

2. autumn

3. 143 = 1 hundred,
4 tens and 3 units

4. 25 less than 100 = 75

5. 1:00

6. 8+8+4)=(15+05)

7. 12

8. yes

9. 19-4 =15

10.166, 167, 175, 177, 185, 186

Money 2

Page 58

1. €1.20, €0.85, €1.20, €1.00,
€1.50, €0.80, €0.50, €0.80
2. 30c

3. 60c

4. 15c

5. €1.80

6. apple

7. €1.70

8. €12

9. €10

10.2) €0.80 b)€1.15 ¢) €1.33
d) €0.50 e) €1.50 f)€0.85

Page 59

89c, €1.41, €2
20c, 20c¢, 5¢, 2c¢, 2¢
€1, 50c¢, 10c, 5¢, 1c
60c
€1.75
7¢, 53¢
a)€1.15 = 115c¢
b) €0.12 = 12c
¢) €0.03 = 3¢
8. a) 137c = €1.37
b) 68c = €0.68

¢) 5c = €0.05
9. 57c
10.€1.43

NouhpwN =

Page 60

1. 6

2. 12

3. false

4. 32cm

5. 56,57,59

6. 30

7. 2kg

8. B3+9+9 =(15+6)
9. 6is of 24

10.76

Two-Step
Problem Solving

Page 61

1. 33-14=19,19+ 17 =36
2. (36-14)+ 28 =50

36 -14=22,22 + 28 =50
3. (67-29) +38=176

67 -29 =38,38+38=176
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4. (87 -66) + 24 = 8. 35+6)+12=

Page 62 87 -66=21,21+ 24 =45 35+6=41,41+12 =53
5. (65-24) + 18 = 9. (72-34)-19 =
1. (66 +6)—-48 =
(66+6)=72 79 48 = 24 65-24=41,41 +18 =159 72-34 =38,38-19=19
) 6. (72-31) + 23 = 10.(34 + 47) - 28 = 53

2. (72 +4)-28 =

72 +4=76,76-28 =48
3. 54+17)-25=

54 +17=71,71-25 =46

72-31=41,41 + 23 = 64
7. (69-41)+ 51 =
69 -41=28,28 + 51 =79

Cracking Maths Practice Book Answers - 2nd Class






